



Solve each of the problems.

Answers

1) $(9 + 6) - 5 =$ _____

1. _____

2) $(28 - 16) \div 4 =$ _____

2. _____

3) $(4 \times 9) \times 2 =$ _____

3. _____

4) $4 + (4 \times 6) =$ _____

4. _____

5) $10 + (6 - 4) =$ _____

5. _____

6) $(12 \div 4) - 3 =$ _____

6. _____

7) $(9 \times 8) \div 8 =$ _____

7. _____

8) $7 + (5 + 9) =$ _____

8. _____

9) $(5 + 8) \times 4 =$ _____

9. _____

10) $(15 - 9) - 5 =$ _____

10. _____

11) $(21 + 9) \div 10 =$ _____

11. _____

12) $(9 \div 3) \times 1 =$ _____

12. _____

13) $9 + (36 \div 9) =$ _____

13. _____

14) $(7 \times 6) - 9 =$ _____

14. _____

15) $(2 - 1) \times 4 =$ _____

15. _____



Solve each of the problems.

1) $(9 + 6) - 5 = \underline{10} \quad (15) - 5$

2) $(28 - 16) \div 4 = \underline{3} \quad (12) \div 4$

3) $(4 \times 9) \times 2 = \underline{72} \quad (36) \times 2$

4) $4 + (4 \times 6) = \underline{28} \quad 4 + (24)$

5) $10 + (6 - 4) = \underline{12} \quad 10 + (2)$

6) $(12 \div 4) - 3 = \underline{0} \quad (3) - 3$

7) $(9 \times 8) \div 8 = \underline{9} \quad (72) \div 8$

8) $7 + (5 + 9) = \underline{21} \quad 7 + (14)$

9) $(5 + 8) \times 4 = \underline{52} \quad (13) \times 4$

10) $(15 - 9) - 5 = \underline{1} \quad (6) - 5$

11) $(21 + 9) \div 10 = \underline{3} \quad (30) \div 10$

12) $(9 \div 3) \times 1 = \underline{3} \quad (3) \times 1$

13) $9 + (36 \div 9) = \underline{13} \quad 9 + (4)$

14) $(7 \times 6) - 9 = \underline{33} \quad (42) - 9$

15) $(2 - 1) \times 4 = \underline{4} \quad (1) \times 4$

Answers1. 102. 33. 724. 285. 126. 07. 98. 219. 5210. 111. 312. 313. 1314. 3315. 4



Solve each of the problems.

10	4	1	3	12
0	13	28	21	9
52	33	3	3	72

Answers

1) $(9 + 6) - 5 =$ _____

2) $(28 - 16) \div 4 =$ _____

3) $(4 \times 9) \times 2 =$ _____

4) $4 + (4 \times 6) =$ _____

5) $10 + (6 - 4) =$ _____

6) $(12 \div 4) - 3 =$ _____

7) $(9 \times 8) \div 8 =$ _____

8) $7 + (5 + 9) =$ _____

9) $(5 + 8) \times 4 =$ _____

10) $(15 - 9) - 5 =$ _____

11) $(21 + 9) \div 10 =$ _____

12) $(9 \div 3) \times 1 =$ _____

13) $9 + (36 \div 9) =$ _____

14) $(7 \times 6) - 9 =$ _____

15) $(2 - 1) \times 4 =$ _____

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____